ADVANCE ADAPTERSINC. | P/N: 716008

PO. Box 247, 4320 Aerotech Center Way
Paso Robles, CA 93447 PAGE 1 OF 2
Telephone: (800) 350-2223  Fax: (805) 238-4201 | PageRev. Date: 03-09-16

NEWTRANSMISS ONCROSSMEMBERSUPPORT
NP231WRANGLERVEHICLES

KIT CONSISTS OF:

No. Qty Part No. Description

1 1 713010-B BOLTPACKKIT

2 1 716008-PLT MOUNTINGPLATE

3 2 716660 MOUNT-LARGEPOLYURETHANE, 1.250" MALEINDEX

4, 2 716661 MOUNT-LARGEPOLYURETHANE, 1.250" FEMALEINDEX
5 2 716662 SLEEVE-BOLTSLEEVE

6. 2 723722 H.H.C.S.3/8"-16x 1-1/4" LONG

7. 2 723735 3/8" FLAT WASHERS

8 2 724303 7/16" LOCK WASHER

9. 2 724349 H.H.C.S.7/16"-14x 1-1/2" LONG

NOTE: This transmission support mount is designed around the use of the Advance Adapters
transmission to transfer case housings. When used on Wrangler transfer case kits, the original
transmission support and snubber can be eliminated. New holes will need to be drilled into the skid
plate. We have provided four different hole locations for your selection. If necessary, new holes
could be drilled at a different location. Once the mount is on the adapter housing, you will then be
able to locate the holes in the skid plate area. On some installations that require additional skid plate
clearance, it may be necessary to use some square structural tubing between the adapter and new
crossmember bar. We have illustrated this in the optional design drawing illustrated below. On CJ5
and CJ7 vehicles 1980-86, we use a similar kit Part No. 716021 that offers a narrower stance.

SPECIAL NOTE: The components packaged in thiskit have been assembled and machined for specific type of conversions. Modifications to
any of thecomponentswill void any possiblewarranty or return privileges. If you do not fully understand modificationsor changesthat will berequired
to complete your conversion, we strongly recommend that you contact our sales department for more information. Thisinstruction sheet isonly to be
used for theassembly of Advance Adapter components. Werecommend that aservicemanual pertainingtoyour vehiclebeobtained for specifictorque

values, wiring diagrams and other related equipment. These manuals are normally available at automotive deal erships and parts stores.




ADVANCE ADAPTERSINC. | P/N: 716008

PO. Box 247, 4320 Aerotech Center Way
Paso Robles, CA 93447 PAGE 2 OF 2
Telephone: (800) 350-2223  Fax: (805) 238-4201 | PageRev. Date: 05-15-01

NEWTRANSMISS ONCROSSMEMBERSUPPORT
NP231WRANGLERVEHICLES

ADAPTER HOUSING

H.H.C.S.
3/87-16 x 1-1/2" LG
OR 7/16-14 x '1.25LC.

NEO—-PRENE MOUNT KIT
PART #713010-NS

4.000" T0 4.375"
PRE-DRILLED HOLES

SUPFPORT MOUNT r‘
PART #716008

3/8' LOCKWASHER
OR 7/16" LOCKWASHER
SKID PLATE

SPACER TUBING MAY BE NECESSARY

TO ACHIEVE CORRECT T/C HEIGHT.

SQUARE TUBING WORKS WELL FOR O
NUT AND BOLT ACCESS.

O

S|
NI
o

-l Iy

Il

OPTIONAL DESIGN

SPECIAL NOTE: The components packaged in this kit have been assembled and machined for specific type of conversions. Maodifications to any of the
components will void any possible warranty or return privileges. If you do not fully understand modifications or changes that will be required to complete
your conversion, we strongly recommend that you contact our sales department for more information. Thisinstruction sheet isonly to be used for the assembly
of Advance Adeac?ter components. We recommend that a service manual pertaining to your vehicle be obtained for specific torque values, wiring diagrams
and other related equipment. These manuals are normally available at automotive dealerships and parts stores.




